

FCPS Part 1 Dentistry
                                               Dental Materials
301: Acid etching procedures with a resin system do not help in?
1: preventing thermal exchange 
2. retaining the resin 
3. providing a clean tooth surface for the resin 
4: reducing microleakage 
Ans: 1
302. The greatest potential for marginal leakage related to temperature change occurs in?
1: zinc phosphate cement 
2. amalgam alloy 
3. direct Idling gold 
4. composite resin 
5, unfilled resin
Ans: 5 
303. Porosities that may occur during the processing of a denture will result in?
1: difficulty in proper cleaning of the denture 
2. increased warpage of the denture 
3. the denture being unsightly 
4. weakening of the denture 
5. all of the above 
Ans: 5
304. When pure metals solidify, super cooling is not necessary for?
1: homogenous nucleation 
2: heterogenous nucleation 
3. polygamous nucleation 
4. monogamous nucleation
Ans: 2 
305. A plasticizer used in methyl methacrylate resins Is?
1: ethyl silicate 
2. butyl acrylate 
3. alkyl sulfonate 
4. ethylene methaciylate
Ans:  3
306. The function of monomer added to the heat-curing resin polymer, is primarily to?
1: produce a plastic mass that can be packed into the mold 
2. start the polymerization reaction 
3. reduce the porosity and increase the strength of the appliance 
4. provide adhesion of the resin base to the teeth
Ans: 1 
307. Compared to the interior of the grain, the grain boundaries of metals?
1: have greater impurities 
2. have a more crystalline structure 
3. are not as easily attacked by Chemicals 
4. have lower energy
Ans: 1 
308. The resistance of inlay wax to cracking and flaking is due to the addition of?
1: dammar resin 
2. carnauba wax 
3. ceresin 
4. ivory wax
Ans: 1 
309. A silicon carbide abrasive designated 180 indicates, that the?
1: particle size of silicon carbide is 180 microns 
2. abrasive can pass through a sieve With 180 meshes to the inch 
3. abrasive is to be used on a work with a VHN of not less than 180 
4. VHN of the abrasive is 180
Ans: 2 
310. Storage of alginates at higher temperatures results in the alginate constituent being?
1: coagulated 
2. precipitated 
3. depolymerized 
4. flocculated 
5. any of the above
Ans: 3 
311. Which of the following will not result in processing stresses in a heat cured compression molded denture base?
1: Water sorption 
2. Friction between mold walls 
3. Differences in thickness of various areas of the denture 
4. Localised polymerization shrinkage 
5. None of the Above
Ans: 5 
312. Pit and fissure sealants are based on BIS-GMA resins or?
1: polycarbonate resins 
2. polyurethane resins 
3. polyvinyl resins
4: polysulphide resins
Ans: 2
313. Dental burs usually have?
1: negative rake angles 
2: 45° rake angles 
3: 90° rake angles 
4: positive rake angles
Ans: 1
314. The exchange of a hydrogen atom from one growing chain to another, in an addition polymerization, will result in chain?
1: termination 
2. induction 
3. transfer 
4. propagation 
5. cross-linking
Ans: 1 
315. Which component of the denture base resin is usually implicated in the dermatitis reactions occurring in dentists or laboratory technicians handling them? 
1: Pigment 
2. Hydroquinone 
3. Polymer 
4. Benzoyl peroxide 
5. Monomer 
Ans: 5
316. An amalgam is an alloy?
1: of two or more metals 
2. one of whose constituents is silver 
3. of silver and tin 
4. one of whose constituents is mercury
Ans: 4 
317. The lower limit of the melting range of noble metal casting alloys is important for estimating the?
1: casting temperature 
2. soldering temperature 
3. firing temperature 
4. welding temperature 
5. none of the above 
Ans: 2
318. Agar hydrocolloid gel should be liquefied by heating at?
1: 40-45°C 
2: 100°C 
3: 80-85°C 
4: 65°C
Ans:  
319. An effective retarder for the lead dioxide cured polysulfide impression materials is?
1: glycoxylic or osmic acid 
2. edetic or valproic acid 
3. picric or carminic acid 
4. oleic or stearic acid
Ans: 4
320. The crystallization of pure molten metals begins when the temperature is?
1: at the freezing point 
2: slightly below the fusion temperature 
3. slightly above the solidification temperature 
4. at the melting point
Ans:2  
321. The greatest stress to which a structure can be subjected and return to its original dimensions when the forces are released is the?
1: modulus of elasticity 
2. elastic limit 
3. stress 
4. tensile strength 
5. Malleability
Ans: 2 
322. When curing a denture base, if insufficient pressure is used while packing, porosity will be seen?
1: at the denture periphery 
2. in the frenum areas 
3. in the thickest portion of the denture 
4. uniformly distributed throughout the denture base 
5. at the junction of the teeth and acrylic base 
Ans: 4
323. The weakest phase of set amalgam is?
1: gamma 
2. gamma-1 
3. gamma-2 
4. beta-2
Ans: 3 
324. Methyl methacrylate?
1:  does not react with fully polymerized acrylic resin 
2: is a poor organic solvent 
3: has a boiling point below that of water 
4: is an opaque ,dirty, white colored liquid 
5: none of the above
Ans: 5 
325. The attraction between atoms or molecules because of van der Waals forces is due to?
1: magnetic oscillations 
2. a static electron field 
3. a fluctuating dipole 
4. the sharing of a valence electron 
5. electron rotation
Ans: 3 
326. Which of the following is formed when gypsum is calcined at temperatures 500°C?
1:  Orthorhombic anhydrite 
2. Calcium sulfate dihydrate 
3. Calcium sulfate hemihydrate 
4: Hexagonal anhydrite
Ans: 1 
327. The filler used in impression compound is?  
1: bees wax 
2. zinc phosphate 
3. French chalk 
4. guttapercha 
5. zinc phosphate powder
Ans: 3 
328. Which of the following impressions can be most safely transported to the dental laboratory?
1: Polysullides 
2. Alginates 
3. Addition silicones 
4. Agar hydroColloids 
5. Condensation silicones
Ans: 3 
329. The flux used when casting gold alloys?
1: helps to prevent oxidation of the alloy 
2. contains borax and boric acid 
3. increases fluidity of the metal 
4. all of the above 
5. none of the above
Ans: 4
330. The severest pulp response is produced when which of the following cements Is applied to freshly cut dentin?
1: Zinc phosphate cement 
2. Zinc oxide - eugenol cement 
3. Resin cement 
4. Glass ionomer cement
Ans: 3 
331. Porcelains are made opaque by the addition of oxides of?
1: iron and aluminium 
2. boron and magnesium 
3. nickel and iridium 
4. titanium and tin
Ans: 4 
332. A 'cermet' is a combination of?
1: feldspar and quartz 
2. silver amalgam powder and glass ionorner powder 
3. conventional and aluminous ceramic powders 
4. the powders of polycarboxylate and composite resin cements 
Ans: 2
333. Regarding gold alloys, the properties of the solder joint are essentially the same as the parts joined, except?
1: elongation 
2. yield strength 
3. ultimate tensile strength 
4. resistance to corrosion 
5. none of the above
Ans: 4 
334. Loss of corrosion resistance of austenitic stainless steel by removal of chromium from the gamma solid solution, is termed? 
1: characterization 
2. sensitization 
3. dechromization 
4. Destabilization
Ans: 2 
335. Relative to enamel, cementum abrades? 
1: 35 times more rapidly 
2: 10 times less rapidly 
3. 50 times more rapidly 
4. Equally
Ans: 1 
336. Which of the following is true for cast gold alloys?
1: Decreasing the gold content will increase the mechanical properties, except elongation, which decreases 
2. Decreasing the gold content will decrease the mechanical properties, except elongation, which increases 
3. Increasing the gold content will increase the mechanical properties, except elongation, which decreases 
4. Increasing the gold content will decrease the mechanical properties, including elongation 
5. There is no correlation between the gold content of gold alloys and their mechanical properties
Ans:  1
337. A stone die can be made more abrasion resistant by?
1: treating the surface of set gypsum with a resin 
2. using aqueous colloidal silica when mixing the stone 
3. mixing the stone with a resin solution 
4. all of the above
Ans: 4 
338. A gold casting is recovered from the gypsum mold by?
1: sand blasting 
2. using high speed burs to cut through the investment 
3. quenching the ring with the mold in water 
4. tapping the mold with a mallet and breaking it
Ans: 3
339. The angle between the back of the tooth of the dental bur and the work, is termed?
1: radial angle 
2. clearance angle 
3. tooth angle 
4. flank angle
Ans: 2 
340. The characteristic translucency of the incisal portion of natural teeth, is achieved in porcelain restorations by the addition of?
1: body porcelain 
2. enamel porcelain 
3. aluminous porcelain 
4. opaque porcelain
Ans: 2 
341. Which of the following factors does not affect the design of dental restorations?
1: Location of carious lesions 
2. Results of two dimensional photoelasticity 
3. Number of surfaces involved 
4. Amount of forces on the restoration
Ans: 2 
342. All of the following are true for condensation resins, except?
1: reaction is slow 
2. small molecules are eliminated during polymerization 
3. functional units may be joined by ester or sulfide linkages 
4. never become truly giant sized 
5. none of the above
Ans: 5 
343. A material which cannot act as a plaster separating agent is?
1: cotton fibers 
2. soap solution 
3. potassium alginate solution 
4. tin foil 
5. liquid paraffin
Ans: 1 
344. Which of the following Is false? An Alginate impression 
1: may exhibit a fluid exudate on the surface as a result of imbibition 
2. will shrink as a result of syneresis 
3. should be at least 3mm thick 
4. will take up water and expand if kept wet 
5. none of the above
Ans: 1 
345. Increased bond strength between resin teeth and resin denture bases, may be obtained by?
1: using teeth having lesser cross-linking in the ridge lap area 
2. grinding and roughening the ridge lap area of teeth 
3. applying monomer to the necks of teeth for a few minutes before packing resin 
4. all of the above
Ans: 4 
346. Polystyrene resins are injected into the mold?
1: after softening under heat 
2. following liquefaction with organic solvents 
3. in the doughy stage 
4. when the powder-liquid mix is fluid
Ans: 1 
347. A solid solution of two metals is more likely to be formed if the?
1: metals have different valences and sizes 
2. lattice structure of the two metals is different 
3. two metals have a high degree of chemical affinity 
4. metallic atoms differ less than 15% in size 
5. all of the above
Ans: 4
348. The most powerful grain refiner in noble metal dental casting alloys is?
1: palladium 
2. nickel 
3. iridium 
4. gallium 
5. Indium
Ans: 3 
349. The thermal shrinkage of phosphate bonded investments, occurring in the range of 200-400°C, is accompanied by the evolution of?
1: ammonia 
2. sulfur dioxide 
3. hydrogen 
4. Carbon
Ans: 1 
350. Which of the following elements is present in the highest percentage in amalgam alloy? 
1: Silver 
2. Tin 
3. Lead 
4. Copper 
5. Zinc
Ans: 1 
351. Lattice imperfections of metal structures, in which a lattice position is left vacant, are termed ?
1: interstitial point detects 
2. vacancies 
3. edge dislocations 
4. line defects 
5. nonequilibrium defects
Ans: 2 
352. Gold alloys used for the fabrication of saddle bars and clasps, are? 
1: Type I 
2. Type II 
3. Type III 
4. Type IV
Ans: 4 
253: On heating to 600°C, which of the following forms of silica would exhibit maximum expansion?
1: Fused quartz 
2. Tridymilo 
3. Cristobalite 
4. Quartz
Ans: 3 
354. The plasticizer commonly used in non-aqueous elastomeric impresion materials is?
1: dibutyl phthalate 
2. colloidal silica 
3. alkyl silicate 
4. silane oligomer
Ans: 1 
355. Denture cleansers which clean by liberating oxygen, contain?
1: sodium chloride 
2. sodium peroxide 
3. soda ash 
4. sodium sulfite 
5. sodium perborate
Ans: 5 
356. The average particle size of modern dental amalgam alloys is?
1: 0.05 - 0.9 micrometer 
2: 1- 5 micrometer 
3: 100 - 140 micrometer 
4. 25-35 micrometer
Ans: 4 
357. Concentrations higher than 50% of phosphoric acid are not used for acid etching, as this would?
1: form a protective layer on enamel which protects the tooth from further dissolution 
2. lead to massive decalcification of enamel rods 
3. damage the pulp 
4. make the etching process too fast to comfort
Ans: 1
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